

Market Intelligence Report 2013: Oklahoma City

May 20, 2013 / By McKenna Luke, MAI

Long one of the economic and cultural wellsprings of America's heartland, Oklahoma City has noted some strong accomplishments of late. Forbes recognized Oklahoma City as the "Most Recession-Proof City" in early 2008, just before the worst effects of the recent recession had taken hold. The prediction seems to have proven true, as the "On Numbers Economic Index," a monthly measure of the economic health of 102 U.S. metropolitan areas, ranked Oklahoma City first in the nation for five out of the last seven months as of February of 2013. Federal, state, and local government; military bases; energy; aviation and aerospace; higher education; bioscience; high technology; agriculture; and manufacturing across Greater Oklahoma City's ten surrounding counties form a diverse, fertile foundation for economic activity and hotel demand. The city is also becoming a bigger player on the convention, tourism, and hospitality fronts, priming the area's hotel industry for growth in the coming years.

Economy Update

The following table illustrates historical and projected employment, population, and income data for the overall Oklahoma City market.

HISTORICAL & PROJECTED EMPLOYMENT, HOUSEHOLDS, POPULATION, AND HOUSEHOLD INCOME STATISTICS

	Total		Office		Industrial						Household	
Year	Employment	% Chg	Employment	% Chg	Employment	% Chg	Households	% Chg	Population	% Chg	Avg. Income	% Chg
2000			474 700				400.700		4 4 0 2 4 0 0		470.050	
2000 2001	539,700 540,770	0.2 %	171,793 175.045	-	81,989	(5.6) %	432,760 437.300	1.0 %	1,103,100	1.1 %	\$70,259	3.3 %
2001	540,770	(0.7)	175,045	1.9 % 0.1	77,388 70,774	(8.5)	442,250	1.0 %	1,115,440 1.128.620	1.1 %	72,560 72.621	0.1
2002		(1.2)				. ,	442,250	0.9	, ,	1.0	75,973	4.6
2003	530,300 542,830	2.4	172,382 176,729	(1.7) 2.5	67,853 68,803	(4.1) 1.4	450,910	1.0	1,139,790 1.152.630	1.0	75,973 81,935	7.8
2004	542,830 556,070	2.4	180,484	2.5	69,262	0.7	450,910	1.7	1,152,630	1.1	86,955	6.1
2005										1.5		7.8
2006	560,630	0.8	182,611	1.2	68,884	(0.5)	465,370	1.5	1,191,560		93,766	3.2
2007	572,700 576,470	0.7	187,338	2.6 0.1	68,403 68,126	(0.7)	471,640	1.5	1,207,740 1,226,960	1.4	96,802	5.2
2008	552,230	(4.2)	187,530 181.467	(3.2)	60,976	(0.4)	478,950 487.260	1.7	1,248,150	1.7	101,853 91.061	(10.6)
2009	563,630	2.1	185,467	2.1	62,629	2.7	487,260	1.7	1,248,150	1.6	98,416	8.1
				0.9			,		, ,		,	5.3
2011	575,430	2.1	186,985		65,355	4.4 3.5	500,440	1.3	1,283,870	1.3	103,601	2.5
2012	592,860	3.0	193,853	3.7	67,667	3.5	508,800	1.7	1,298,540	1.1	106,152	2.5
Forecasts												
2013	598,810	1.0 %	195,604	0.9 %	68,136	0.7 %	516,180	1.5 %	1,313,150	1.1 %	\$109,539	3.2 %
2014	614,020	2.5	201,215	2.9	69,084	1.4	524,700	1.7	1,327,690	1.1	115,841	5.8
2015	631,450	2.8	207,344	3.0	70,342	1.8	534,190	1.8	1,342,000	1.1	122,089	5.4
2016	644,120	2.0	211,660	2.1	71,114	1.1	542,390	1.5	1,356,070	1.0	127,704	4.6
2017	650,860	1.0	214,071	1.1	71,175	0.1	549,880	1.4	1,370,420	1.1	132,112	3.5
Average Ani	nual Compound	Chango										
·	nuar Compound	_										
2000 - 2012		0.8 %		1.0 %		(1.6) %		1.4 %		1.4 %		3.5 %
2000 - 2007		0.9		1.2		(2.6)		1.2		1.3		4.7
2007 - 2010		(0.5)		(0.4)		(2.9)		1.6		1.6		0.6
2010 - 2012		2.6		2.3		3.9		1.5		1.2		3.9
Forecast 201	12 - 2017	1.9 %		2.0 %		1.0 %		1.6 %		1.1 %		4.5 %
					Source: REIS Re	port, 4th C	Quarter, 2012					

The Oklahoma City area benefits from a well-established, diverse, and relatively stable economy that helped it weather the recent recession. Employment and income levels decreased significantly during the worst of the downturn in 2009 but recovered quickly. The Oklahoma City headquarters and operations of Fortune 500 companies, such as Chesapeake Energy and Devon Energy, have increased both office employment and average income in the city.

While education, health care, and government still form its foundation, the diversification of Oklahoma City's economy into areas such as oil and gas production has broadened the economic base and brought higher-paying jobs. Boeing moved hundreds of engineering jobs from Wichita to Oklahoma City in 2012, and

Summary

Employment in Oklahoma
City stands far ahead of the
nation, and activity
generated by agriculture,
energy concerns, and the
military has kept the
economy going strong.
What has this meant for
recent hotel performance,
supply, and transactions?

 Ø 8 Comments

FILED UNDER CATEGORIES

Valuations & Market Studies

Economic Trends and Cycles

North America

Continental Resources relocated its headquarters to Oklahoma City last year. The pro-business environment, low cost of living, and value that Oklahoma City brings to businesses should contribute to continued economic growth.

The following table illustrates unemployment statistics for Oklahoma County, the Oklahoma MSA, the state of Oklahoma, and the U.S. from 2002 through 2011.

UNEMPLOYMENT STATISTICS

Year	County	MSA	State	U.S.				
2002	4.8 %	4.5 %	4.8 %	5.8 %				
2003	5.6	5.2	5.6	6.0				
2004	4.9	4.6	5.0	5.5				
2005	4.7	4.4	4.5	5.1				
2006	4.3	4.1	4.1	4.6				
2007	4.4	4.2	4.1	4.6				
2008	3.9	3.8	3.7	5.8				
2009	6.4	6.2	6.7	9.3				
2010	6.9	6.5	6.9	9.6				
2011	6.1	5.7	6.2	9.0				
Recent Month - Dec								
2011	6.1 %	5.7 %	6.2 %	8.5 %				
2012	4.9	4.6	5.0	7.8				
* Letters shown next to data points (if any) reflect revised population controls and/or model re-estimation implemented by the BLS.								
Source: U.S. Bureau of Labor Statistics								

Recent measures aim to push Oklahoma City's economy past pre-recession levels. Agricultural commerce in the Oklahoma City area has helped stabilize the local economy, as has the presence of military bases and local and state government operations; the city is the state capital and county seat, and Tinker Air Force Base is Oklahoma's largest single-site employer. The Will Rogers World Airport is fewer than six miles from the downtown center, and a strong office market also helps to facilitate business activity in Oklahoma City. The Federal Aviation Administration (FAA) Mike Monroney Aeronautical Center, also located in Oklahoma City, creates a large base of hotel demand, especially in the Oklahoma City West area near the airport. Because of this government and military presence, employment related to aerospace and aviation is strong and growing, and Oklahoma City's overall unemployment levels register well below the national average.

Furthermore, the emergence of wind energy projects and the stability of oil and gas exploration in Oklahoma have provided major sources of revenue and employment in Oklahoma City. Devon Energy opened its 50-story, \$750-million World Headquarters Tower in October of 2012, and the \$100-million expansion and redevelopment of SandRidge Energy's headquarters is scheduled for completion in 2014. Chesapeake Energy also continues to expand its campus in the northwestern section of the city. With infrastructure and abundant natural resources in place, Oklahoma City is well positioned for growth in alternative energy sources such as wind, solar, and compressed natural gas, which should provide for healthy levels of employment in the future.

Office Space Market Update

The following table details Oklahoma City's office space statistics, which are important indicators of the market's propensity to attract commercial hotel demand.

OFFICE SPACE STATISTICS – MARKET OVERVIEW

	In	ventory	Occupied Office	Vacancy	Average Asking
Submarket	Buildings	Square Feet	Space	Rate	Lease Rate
1 North	76	4,540,000	3,908,900	13.9 %	\$16.44
2 Midtown	16	1,501,000	1,382,400	7.9	16.46
3 CBD	51	6,801,000	5,325,200	21.7	14.05
4 West	14	573,000	414,900	27.6	11.40
5 Northwest	48	3,579,000	3,060,000	14.5	14.70
Totals and Averages	205	16,994,000	14,091,400	17.1 %	\$14.95
Source: REIS Report, 4th Quarter, 2012					

The city's available office space is concentrated in the Central Business District (CBD) submarket, though the Midtown submarket enjoys a very low vacancy rate and the highest average asking lease rate in the overall market.

The following table illustrates a trend of office space statistics for the overall Oklahoma City market.

HISTORICAL AND PROJECTED OFFICE SPACE STATISTICS - GREATER MARKET

	Oklahoma City Market						
	Available		Occupied		Vacancy	Asking	
Year	Office Space	% Chg	Office Space	% Chg	Rate	Lease Rate	% Chg
2000	17,512,000	_	14,374,000	_	17.9 %	\$13.38	_
2001	17,926,000	2.4 %	14,298,000	(0.5) %	20.2	13.19	(1.4) %
2002	17,789,000	(0.8)	14,066,000	(1.6)	20.9	13.13	(0.5)
2003	17,914,000	0.7	13,849,000	(1.5)	22.7	13.13	0.0
2004	17,910,000	(0.0)	14,180,000	2.4	20.8	13.27	1.1
2005	17,372,000	(3.0)	13,948,000	(1.6)	19.7	13.48	1.6
2006	17,047,000	(1.9)	14,045,000	0.7	17.6	14.08	4.5
2007	17,126,000	0.5	14,503,000	3.3	15.3	14.45	2.6
2008	17,203,000	0.4	14,210,000	(2.0)	17.4	14.73	1.9
2009	17,263,000	0.3	14,198,000	(0.1)	17.7	14.88	1.0
2010	17,274,000	0.1	13,801,000	(2.8)	20.1	14.90	0.1
2011	17,134,000	(0.8)	13,705,000	(0.7)	20.0	14.92	0.1
2012	16,994,000	(0.8)	14,088,000	2.8	17.1	14.95	0.2
Forecasts							
2013	17,054,000	0.4 %	14,243,000	1.1 %	16.5 %	\$15.13	1.2 %
2014	17,131,000	0.5	14,334,000	0.6	16.3	15.42	1.9
2015	17,251,000	0.7	14,374,000	0.3	16.7	15.75	2.1
2016	17,415,000	1.0	14,492,000	0.8	16.8	16.30	3.5
2017	17,596,000	1.0	14,637,000	1.0	16.8	16.79	3.0
Average A	nnual Compour	_					
2000 - 201		(0.2) %		(0.2) %			0.9 %
2000 - 200		(0.3)		0.1			1.1
2007 - 201		0.3		(1.6)			1.0
2010 - 201	2	(0.8)		1.0			0.2
Forecast 2	012 - 2017	0.7 %		0.8 %			2.3 %
		Source	: REIS Report, 4	th Quarte	r, 2012		

Several key developments in Oklahoma City's office market have occurred within the past year. In 2012, Continental Resources moved into much of the Class A office space previously occupied by Devon Energy, and at the end of the third quarter, Class A vacancy stood at just 12.9%. While Downtown Oklahoma City contains the most inventory, much of the available space is limited to Class B or C space; although, several rumored redevelopment projects would convert much of this space to Class A. Overall, new construction is very limited. While several large firms, such as SandRidge Energy and Chesapeake Energy, expand their owner-occupied buildings, the growth of competitive space has been subdued. Therefore, vacancy is anticipated to decrease and asking lease rates are expected to increase through 2017.

Hotel Construction Update

Strong occupancy, rate recuperation, and increasing demand in Oklahoma City have encouraged new hotel projects throughout the metro area. According to HVS research, at least nine new hotels (in addition to hotels in the preliminary planning stages) are currently in the pipeline for Oklahoma City, including:

- Aloft (Under Construction)
- Hilton Garden Inn Bricktown (Under Construction)
- Homewood Suites by Hilton Bricktown (Under Construction)
- Holiday Inn Express (Under Construction)
- Hampton Inn (Site Work)
- TownePlace Suites by Marriott (Site Work)
- Embassy Suites
- Oklahoma City Convention Center Hotel
- Remington Park Hotel

While many new hotels are expected to enter the market in the coming years, the percentage increase to the overall market supply will be moderate; however, there will be a large increase in the overall rooms available in the downtown area. Depending on how quickly this supply enters the market, hotels in other submarkets may lose occupancy as demand moves Downtown. These proposed hotels complement a handful of other projects in various stages throughout the downtown area. A larger convention center hotel is anticipated to open in conjunction with the new convention center in Downtown Oklahoma City in late 2018, creating a substantial boon for the city's lodging industry and reputation as a destination city for meetings and groups.

Outlook on Market Occupancy and Average Rate

As with the city's overall economy, lodging trends in Oklahoma City are solid. As of August of 2012, Oklahoma City's hotel occupancy growth ranked second only to Oahu, Hawaii, and the industry's marked growth since the recession is even more impressive given that local occupancy levels took a relatively minor hit compared with the plunge seen in other metropolitan markets. High-quality new supply entered the downtown submarket in 2007 and 2009; this supply was quickly absorbed and bolstered the downtown lodging market. Overall, citywide occupancy has been very strong, with occupancy bracketing the 70% mark over the past five years. Average daily rate growth for Oklahoma City hotels began to slow in 2008, and rates declined until early 2010. Rates finally began to rebound as new supply was absorbed in 2012.

Despite all the proposed new supply that is expected to enter the Oklahoma City area over the next several years, occupancy is anticipated to remain strong or decrease only slightly depending on how many hotel projects come to fruition. There is a significant amount of unaccommodated demand in Oklahoma City, which this new supply is expected to satisfy; however, the well-timed entrance of these new hotels will be crucial to the potential impact on the overall market. The entrance of higher-rated hotels should also allow hotels in the market to increase their rates.

Recent Hotel Transactions

The following table summarizes hotel transactions in the state of Oklahoma since March of 2010.

REVIEW OF HOTEL TRANSACTIONS

Property	Location	Sale Date	Price	Rooms	Price/Rm
Travelodge Oklahoma City North	Oklahoma City, Oklahoma	Dec-12	\$1,400,000	51	\$27,451
Lake Shore Motel	Mannford, Oklahoma	Jul-12	800,000	30	26,667
America's Best Value Inn Tulsa	Tulsa, Oklahoma	Jul-12	710,000	63	11,270
Knights Inn Tulsa	Tulsa, Oklahoma	Apr-12	1,100,000	150	7,333
Super 10 Motel	Oklahoma City, Oklahoma	Jan-12	2,500,000	50	50,000
Hampton Inn Duncan	Duncan, Oklahoma	Jan-12	7,500,000	78	96,154
Crestwood Suites Tulsa	Tulsa, Oklahoma	Dec-11	2,800,000	131	21,374
Clarion Hotel & Conference Center	Oklahoma City, Oklahoma	Dec-11	6,000,000	200	30,000
Days Inn Oklahoma City Fairgrounds	Oklahoma City, Oklahoma	Dec-11	1,800,000	117	15,385
Comfort Inn & Suites	Glenpool, Oklahoma	Sep-11	4,850,000	60	80,833
Remington Inn	Oklahoma City, Oklahoma	Aug-11	1,150,000	60	19,167
Quality Inn Southwest	Oklahoma City, Oklahoma	Jul-11	2,400,000	149	16,107
Residence Inn by Marriott Norman	Norman, Oklahoma	Jun-11	3,850,000	126	30,556
Motel 6 Oklahoma City West	Oklahoma City, Oklahoma	Nov-10	2,200,000	118	18,644
Best Western Glenpool Tulsa	Glenpool, Oklahoma	Nov-10	2,300,000	64	35,938
Super 8 Tulsa	Tulsa, Oklahoma	Jul-10	1,080,000	120	9,000
Hampton Inn & Suites Bricktown	Oklahoma City, Oklahoma	May-10	32,660,000	200	163,300
Holiday Inn Express Central	Tulsa, Oklahoma	May-10	4,400,000	62	70,968
Super 8 Sapulpa Tulsa	Sapulpa, Oklahoma	May-10	3,000,000	60	50,000
Oaktree Inn & Suites	Oklahoma City, Oklahoma	Mar-10	2,375,000	145	16,379

The sales across the Oklahoma City market have ranged from \$163,000 down to \$15,000 per key, with pricing highly dependent on historical operations, location, and product type, as well as whether the property was under financial distress.

Conclusion

Oklahoma City's endurance of the recession and its economic growth since can be counted in the number of new business relocations, expansions, and projects, many of which are set to extend over the next several years. These projects notably include new hotels, and balancing the addition of hotel supply with projected demand growth will be extremely important to the health of the market moving forward, especially with respect to maintaining occupancy and average rate increases. The new convention center hotel and associated improvements have the potential to take the Oklahoma City hospitality industry to the next level, and new, well-advised, well-timed hotel projects should contribute to and benefit from the city's already strong, diverse economy.